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Yrs— J
Section - A

qgfadpediue :

Multiple choice questions:

=T el & ITR a1 Wl fadhed a9 R IR gRaeT | folag —
Choose the correct option to answer the following questions and write it in the
answer book —

) Hhod @ T9Y §ad D3GR Wh d U FATE DI BT o— [1]

(@) ared (@) e o IR (F) AMfels @ AR (3) IWRRH FHI
Prevents back flow of blood inside the heart during blood flow —

(a) Valve (b) Wall of ventricle (c) Wall of atrium (d) All of the above

i) v =R ¥ e dadt & e dadl 3 gRady waf w) g § 2 [1)
(31) PRI B H (d) dPE R (H) AT W (]) BIRGI g0 H

Where does the conversion of electrical signals into chemical signals take place in a
neuron?

(a) in the cell body (b) on the axon (c) on the dendrite (d)in the cytoplasm

i) 719 & AR &1 PRI T ? [1]

@N)|ra=T (§) Hder 9T (9) 88Y WeA (]) SuRIad Tl

Which is the Function of human brain?
(a) Thinking (b) Balancing (c) Heartbeat (d) All

iv) RRYY STl SAREHT T a1 <1&ToT BIT— [1]
(@1) e, &1 (@) FRER YT (|) M, Wl (]) SNIeR, &

External characteristic of RRYY gene structure will be -

(a) Round, green (b) Wrinkled, yellow (c) Round, yellow (d) Wrinkled, green

V) 3MTAc P17 () BT 719 BT § ? [1]

(31) IRTGT BT | AT (§) WA HIvT & FAM (F) WRiadd dior 9 A

() Sugaa wh



What is the value of angle of incidence (i)?
(a) Greater than the angle of reflection (b) Same as the angle of reflection
(c) Less than the angle of reflection (d) All of the above

Vi) 9TEI STl W 3G B FRe PRAT o [1]
(@) Difar (@) aRaRker (¥) e Ued (]) ¥ad Ued

Protects the eyes from external shocks —

(a) Cornea (b) Iris (c) Cholera (d) Sclera

vii) afe fod aRuer & 1 el el &I yarfed &1 3§ 1 S SR BT U9l &,
9 31 fagall @& 4 fawarar sm— [1]

@) 1 dlee @) 2 dlee (F) 3 dlee (]) 4 dlec

If 1 joule of work has to be done to flow 1 coulomb of charge in a circuit, then the

potential difference between two points will be —

(a) 1 volt (b) 2 volt (c) 3 volt (d) 4 volt

viii) ITe® IR BT ufeRy = § 9 fg o) iR A8 et ® [1]
(37) TMH TR B T8 W (d) JIPRIABIC & &Fhel W (F) Sugad ai
(@) ST # ¥ By TRl

The resistance of a conducting wire does not depend on which of the following?
(a) On the length of the conducting wire (b) On the area of cross section
(c) Both (d) None of these

iX) AR H dle & HUR Y IR TG DI UhAT 5 [1]
(37) STTErIA (q) HerRvr (W) faganifear (1) fafavermos

The process of formation of Brown layer on Iron in the atmosphere is -

(a) Reduction (b) Corrosion (c) Virulence (d) Double Displacement

X)2CH;COOH + Na,CO3 = ++ .o A e e oo+ Hy,0 + CO,SWRIH AMATHAT #
AfrB[Alz—[1]

(&) CH5C00 (d) 2CH;COONa(H) C,HsOH ()CaCOs



2CH;CO0H + Na,C03 = +++........A ..........+ H,0 + CO,Compound [A] in the

above reaction is —
(A) CH5COO (B) 2CH;COONa (C) C,HsOH(D) CaCOs
Xi) STV HATSTHAT DI ¥ gelag™ AN B fhdd! FHor wal & 2

@) o (@) g9 (@) g9raT Ud SROmIT QI

@) &l A1 T @1 fFior R FHhaT ©

What do metals form by giving up electrons from the valence shell?
(A) Anion (b) Cation (c) Both cation and anion (d) Can form any one

Xii)" 05 "fhad e Tdid § 7

(31) sifeRIoA (d@) sifedrgs (|) AN () B
What is the chemical symbol of "03"?

(a) Oxygen (b) Oxide (c) Ozone (d) Argon
xiii) SAT BT Sderd pH A9 fha=T 8 R IS Bide ?

(31) 55 F HH BF W (@) 65 9 BH & W (F) 75 F HH 8 W
(®) 85 ¥ ®HH 8F W

Teeth decay starts at what pH value?

(a) Less than 5.5 (b) Less than 6.5 (c) Less than 7.5 (d) Less than 8.5

Xiv)gsT # TR S WRT ST A R BT § 7

(31) sierr (@) afdierr (|) Yoar (]) drEcd
What is the name of the male reproductive part in a flower?

(a) Ovary (b) Stigma (c) Stamen (d) Sepal

o :
xv) I g =1 I 28—

(31) @OR dIe &1 (@) T die BT (@) fhdl f YR & oz T I91=7 ST

[1]

[1]

[1]

[1]

[1]

FHAT & (8) 9 Ud HoR GFl & UBR & dle | &l 9411 off Fhal

Electromagnet is made in —

(a) Hard Iron (b) Soft iron (c) Can be made from any type of iron
(d) Cannot be made from both soft and hard iron.



2. b Tl &) gfd aifo
Fill in the blanks:

) R # U S 9ol TligH B NI PEd T |
The enzymes found in saliva are called salivary -------------------- . [1]
i) wopfer ¥ Ry aifde frareier e ¥ [1]
The most active element in nature is -------------------- .

iii) AeT ¥ IfeRy @ wwen Sl B ® | [1]
The number of ovaries in a female is -------------------- pair.

iv) I & STl BT pH 4 gal & | [1]

The pH value of tap water is ------------- .

V) STel &7 3Yacid BT [1]

The refractive index of water is ------------ .

vi) dlee Wiex &I dqd uRkuer # H Harra far ST 7 |

Voltmeter is always connected in in the circuit. [1]

vii) It & O vd Ara—eRa arer RTH Tbrer Ay @) edar g S g,

CECICI 1]
All green plants and blue-green algae which have the capability of photosynthesis
are called ------------ .
3. SftEEERTE® ¥ (1T BT IR T e A1 v e 7 faf)
D) <81 # SuRerd ard &1 IMfe AW faRau | 1]

Write the chemical name of the acid present in curd.

i) FrefoRad acl @ gl & FAoM | 999 a1l Rer fgemeam el & g3
AR | [1]

Mg iR Cl,

Give the formulae of the stable binary compounds that would be formed by the

combination of the following pairs of elements.

Mg and Cl,



iii) €RT faggd @1 e g HRaT & | TP

Diamond does not conduct electricity. Why?

iv) BT BT URATY] HHTD o BIar & ?

What is the atomic number of carbon?

v) d@T dF @ TS Ud fhared gdhre I 87

What is the structural and functional unit of the nervous system?

Vi) wreHIfeTd § o9 fhd fafy & g gar § 2

Which method does reproduction take place in Plasmodium?

vii) ashar Boar iR B g3 H 7 ey BT ® ?
What is the relationship between radius of curvature and focal length?
viii) 9= 3T DI IR BTG |

Define principal axis.

iX) T R & b e &7 @ e —gER Bl Ufdwes T8l dRdl 3 ?
What is the reason why magnetic field lines do not intersect each other?

X) 9AfaRoT ¥ fages - aret Sial @ e ol |

Werite the role of decomposer organisms in the environment.

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]



Yls— q

Section-B

AYITURIHAD YT : U1 AT 04 ¥ 15  SaxyRasr # faRay | (srss A 50

)

Short answer type question — Write the answers of question number 04 to 16 in answer

book (Word limit 50 words)

4. A (X) 3R THMAEH &1 ITINT ¥t @1 Rl &I e & forg faar Srar 21

@ afe (x) @1 gt |

(i) arfaforar @1 9m faRaw |

(iii) @1 rfAforar faRay | [1/2+1/2+1]
Compound X and aluminium are used to join railway tracks.

(i) ldentify the compound X.

(i) Name the reaction.

(iii) Write down its reaction.
5. fd@a Tiferdr @1 wHemsy ?

Explain Rancidity?

6. IR UBRIHD TRl & M IdA5T—

Name the for functional groups —

7. HIATA BT ArS! A A1 BT Wad A °rde 8 Ahdr g | fewoh gy |

Intake of a small quantity of methanol can be lethal. Comment.
8. URI & INR H U H¥ BT & °

How does the nutrition take place in the plant body ?

9. WM gig iR <ifre uRudedr v g 9 fbd gaR = 87

How are general growth and sexual maturation different from each other?

[2]

[2]

[2]

[2]

[2]



10.

11.

12.

13.

14.

15.

16.

HIGT STH9AS &I AMiTdhd o a918y | [2]

Make a labelled diagram of the female reproductive system.

T4 YTl HI R0l fORET AT & A1 TR Bl & Al Sl AN &2 g Th
fepRoT SR TS | [2]
T U A

Draw a ray diagram showing the path of rays of light when it enters with oblique
incidence

from air into water.

I TUYT gRT 997 wfafawat & Rerfer @ gt € 7 [2]
What are the positions of the images formed by the convex mirror?

SO & Yl @ o ¥ 2 [2]
What are the properties of Magnetic field lines?

ST W T RN FHSE ? [2]
What do you understand by Short Circuiting?

< Slias | iy TR TfafafeRl el S AR & AJhd & | [2]

Suggest any four activities in daily life which are eco-friendly.

Yrg—Y
Section - C

FAT BIAT & 99 — [3]
(i) i a1g & HiRAewe ardd H A Sar g ?
(i) T FewmR® 3t # i o1g A S 2 2

Ife ffhar Bl & a1 dqferd rIfe FHieRor i ford |

What happens when a piece of
(i) Zinc metal is added to copper sulphate solution?
(i) Zinc metal is added to dilute Sulphuric acid?

Also, write the balanced chemical equation if the reaction occurs



17.

18.

19.

34T

ON O\ O\

f=feIRad 5 & ISP BT Th IATETT THR AHSSU— [1% + 1%]

Explain the following by giving one example of each —
(i) Combination reaction

(ii) Displacement reaction

UIey BH A 31T 9T A & ¢ fbwsl & UIey 8MMH & A Ud Uh—Tdh B
forfau |

What do you understand by plant hormone? Write the names of any two plants

hormones and one function each. [1+1+1]
31AdT
q9g H WHARTSs & fAfa= ¥R & 9 vd dRf falRaw | [1+2]

Write the name and functions of different parts of the forebrain in humans.

Hed @ fgdax dAoxor & W @ FHeEy | [3]
Explain Mendel's law of dihybrid hybridization.
3AdT

HsSel ERT UfAUIfad Yraheyr & | &1 |Hsgy | [3]

Explain the law of segregation propounded by Mendel.

(1) e 3MPHIA & [T Alell T fa@rg <ar g ? [3]
(2) B9 aul & a1 &1 MBI H 35 &y i fe@rg <ol © ?

(1) Why does the color of clear sky appear blue?
(2) Why do we see rainbow in the sky only after rain?

Jrerar
(1) fesat wara fodd wed ® ? [3]

(2) AR feafenra @l udfid 81d & ? wHssy |

(1) What is Tyndall effect?

(2) Why do the stars appear to twinkle? explain



20.

21.

22.

LYrs—q

Section - D

(1) 3t foe wedt 8 ° [1+3]
(2) T BT B, 54 BIS T G1g B T IFARKAT BRaT B | AHRIST-

(1) What is called acid?

(2) What happens when an acid reacts with a metal. explain -

34T

(1) serfeass SifaATSS @1 UPfd Hul Bl § 7 [1+3]
(2) foRsre ol &1 e g3 folad gU @ig 9 SUAnT faRag |

(1) What is the nature of non-metallic oxide ?

(2) Write the chemical formula of bleaching powder and write any three uses.

arfar & AT fafYy @1 Afers wHegT ? [1+3]
Explain the method of nutrition in amoeba graphically?

34T

(1) SMHTET | PIFAT 3Tl Fdherdr & ? [1+3]
(2) MR ¥ 3FA & &I BRI for@l ? a1 BT AR SMATEY H YT &I A9 el
BN | HHSSY —

(1) Which acid secreted from stomach?

(2) Write to funcation of acid in stomach? What will happen if mucus is not secreted
in stomach? explain -

(1) faga uRuy fod wed © ? [1+3]
(2) frll fagd 9cd & a=g 4 9 05 A | fIgd T 10 e & 999 & fofg yarfzd
@ Sl 2 | faga aRuer | warfed fdgd Sasr o1 gRETT wrd Iy |

(1) What is called electrical circuit?

(2) 0.5 A electric current is passed through the filament of an electric bulb for a
period of 10 minutes. Find the result of electric charge flowing through the electric
circuit.?

Jrqar
(1) mferrer fod ded 8 ? [1+3]
(2) fo=l arerd IR &7 UfeRe fha—fd Ao R iR o=ar g °?

(1) What is called resistance?

(2) On what factors does the resistance of a conducting wire depend?





